Problem-1

A roadway is designed for a speed of 120 km/hr. At
one horizontal curve, it is known that the
superelevation is 8.0% and side friction factor is 0.09.
Determine the minimum radius of the curve
(measured to the traveled path) that will provide safe

vehicle operating.
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Problem-2 A bz

. What is the minimum radius of curvature allowable

for a roadway with a 100 km/hr design speed,
assuming allowable super elevation rate is 0.12.
Compare this with the minimum curve radius
recommended by AASHTO.

What is the actual maximum super e¢levation rate 3
allowable under AASHTO recommended standards .
for a 100 km/hr design speed, if the value of 7 is the -
maximum allowed by AASHTO for this speed. i
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Problem-3

mine a proper superclevstion rate for a m

volume, gmwl surface m.m with & dmtgn s"peed of 50
mph and a degree of cunature of 8 degrees. i
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